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public class P1 {

pubiic void count1{int m, int n, int p)

int counter1, counter2, counter3;
countert = 1;

cusum = 0;

while (counter! <= m)

cusum += counter1;
countert += 1;

counter2 = 1;
product = 1;
while (counter2 <= n)

product *= counter2;
counter? += 1;

counterd=1;
sum=0;
while (counter3 <= p})

sum += counter3;
counterd += 1;

mean =sum/p;
éub!ic int getSum{()
¢ return sum;
Lub!ic int getProduct()
{ return product;
gmbﬁc int getCusum()
{ return cusum;
zmb!ic int getMean()
¢ return mean;

private int sum, product, cusum, mean;

P4 s

public class P4 {
public void countd(int n)

int counter;

counter = 1;

cusum = Q;

while (counter <= n)

{
cusum += counter;
counter += 1;

}
}
public int getCusum()
{

return cusum;

private int cusum;

public class PS5 {

P2
public class P2 {

public void count2(int n)
int counter;
counter = 1;
cusum = 0;
product = 1;

-while {counter <= n)
cusum += counter;
product *= counter;
counter 4= 1,

}
b
public int getCusum{()
{

return cusum;
}
public int getProduct()
{

return product;

private int cusum, product; y

/P8
public class P6 {

P3
public class P3 {

public void count3(int n)
int counter;
counter = 1;
cusurn = 0;
while (counter <= n}

cusum = counter;
counter += 1;

}

mean = cusum / m;
i)ublic int getCusum()
{ return cusum;
g)ub!ic int getMean()

return mean;

private int cusum, mean;

public void count6(int n,int product)

int counter1, counter2, counter3, counterd;

counter! =1;
int af] = new int[n};
while {(countert <= n)

a[counteri-1] = countert;
countert += 1;

}

counter2 = 0;
cusum = 0;

while (counter2 < n)

cusum += afcounter2];
counter2 +=1;

counter3 =0;

prod = 1;

while (counter3 < n)

{

prod = prod* product * a[counter3];
counter3 += 1;

counter4 = 0;

sum=0;

while (counter4 < n)

public void count5(int first,int second}

int intermediate;

intermediate = first;
result_first = second;
result_second = intermediate;

sum += afcounterd];
counterd +=1;

mean =sum/n;
}
public int getCusum()
{

return cusum;

} Y e
public int getProd()
{

public int getResuit_first()
return result_first;

Z)ublic int getResult_second()
retum result_second;

private int result_first, result_second;

return prod;
éublic int getSum()
{ return sum;
%ubﬁc int getMean()

return mean;

private int cusum, prod, sum, mean;
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Vg
public class P7 {

public void count7(int[} tmp, int n)
{
int counter1, counter2, temp;
counter1 = 0;
a=tmp;
System.out.print("\n");
for (counter! = 1; counter! < n; counter++)
{
for (counter2=0; counter2 < countert; counter2++)
if (afcounter1] <a[counter2])
{
temp = a[counter1];
a[counteri] = afcounter2];
a[counter2] = temp;
}
}
}
public intf] geta()
{
return &;

}
private inff] a;
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public class P8 {

public void count8(int m, int n, int p, int flag)
{
int counter1, counter2, counter3;
cusum = 0;
product = 1;
sum = Q;
mean =0;
if (flag == 1)
{
countert = 1;
cusum = 0;
while (countert <= m)
cusum +=  countert;
countert +=1;
}
else if {flag == 2)
{
counter2 = 1;
product = 1;
while (counter2 <=n)

{
product *= counter2;
counter2 +=1;
}
¥
else
counter3 = 1;
sum =0;
while (counter3 <= p)
sum += counter3;
counter3 += 1;
}
}
mean =sum/p;
}
public int getCusum()
{
return cusum;
public int getProduct()
{
return product;
}
public int getSum(}
{
returm sum;
public int getMean()
{
return mean;

private int cusum, product,. sum, mean;
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